
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Name _____________________________________________________Date ___/____/____ Period _____ 
Identifying Slope, Y-intercept, X-intercept in Mathematical and Contextual Problems  
    

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 

  
 
 
 
 
 

 

m:                                  =  _______ gal/hr 

___________ a ________ 

y-int: ____  (      ,     )      
x-int: ____   (      ,     ) 
 
 f(x) = ______________ 
 

Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
Linear function Y or N 
Causation or Association 

m:                                  =  _______ balance/deposit 

__________ each _____ 
 

y-int: ____  (      ,     )        
x-int: ____   (      ,     ) 
 
f(x) = ______________ 
Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
Causation or Association 
 

m:                                  =  _______ ft/sec 

________ per ________ 

y-int: ____  (      ,     )    
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
Causation or Association 
 

∆௬

∆௫
:                       =  ______ value/yr 

______ every ______ 

y-int: ____  (      ,     )      
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Causation or Association 
 

hr gal 

  

  

  

  

  

  

 

Dep $ 

  

  

  

  

 

sec ft 

  

  

  

  

  

 

yr $ 

  

  

  

  

 

݂ሺ8ሻ  =  ____ 

݂ሺ  ሻ  =  100 

 

݂ሺ30ሻ  =  ____ 

݂ሺ  ሻ  =  750 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

 
 
 
 

 
 

 
 
 
 
 
 
∆௬

∆௫
:                       =  ______ value/yr 

______ every ______ 
y-int: ____  (      ,     )      
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Causation or Association 
 

 

 
 
m:                                   
________ per ________ 
y-int: ____  (      ,     )    
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Domain: ________________ 
Range: _________________ 
Causation or Association 
 

  

  
 
m:                                   
________ per ________ 
y-int: ____  (      ,     )    
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
Causation or Association 
 

sec ft 

  

  

  

  

  

 

sec ft 

  

  

  

  

  

 

fed mm 

  

  

  

  

  

 

fam ft 

  

  

  

  

  

 

m:                                  =  _______ ft/sec 

________ per ________ 

y-int: ____  (      ,     )    
x-int: ____   (      ,     ) 
 

f(x) = ______________ 
Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
Causation or Association 
 



 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

   

 
 
 
 
 
 
 
 
 
 
 
 
 

Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 
 
 

 

 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 

  

  
 
 
 
 
 
 
 
 
 
 
 
 
 

 

slope:                                  =  ______ hr/km 

__________ per _______ 

y-int: ____  (      ,     ) 
zero: ____   (      ,     ) 
 
f(x) = ______________ 

Hr Km 

  

  

  

  

  

  

 

m: _______  

y-int: ____  (      ,     ) 
 
x-int: ____   (      ,     ) 
 
f(x) = ______________ 

m: _______  

y-int: ____  (      ,     ) 
 

x-int: ____   (      ,     ) 
 
x = ______________ 

Domain:  
Range: 

x y 

  

  

  

  

  

 

m: _______  

y-int: ____  (      ,     ) 
 
x-int: ____   (      ,     ) 
 

f(x) = ______________ 

Domain: _____  ≤ ݔ ≤ ____ 
Range: ____ ≤ ݕ ≤ _____ 

 

x y 

  

  

  

  

  

 

x y 

  

  

  

  

  

  

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

 
 
  m: ____  
 

   y-int: ___ 
  (      ,     ) 
 
  y = ____ 
 
 
 
 

Domain:  
Range: 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
Domain:  
Range:  
 

 

 
 
 
 
 
 
 
 
 
 
Domain:  
Range:  
 

  
 
 
 
 
 
 
 
 
Domain:  
Range:  
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x y 

  

  

  

  

  

 

x y 

  

  

  

  

  

 

x y 

  

  

  

  

  

 

x y 

  

  

  

  

  

 

m: ____  
 

y-int: __ 
(      ,     ) 
 
y = _____ 

m: ____  
 

y-int: __ 
(      ,     ) 
 

y = _____ 

x y 

  

  

  

  

  

 

m: ____  

y-int: __ 
(      ,     ) 
 

y = _____ 

 

m: ____  
 

x-int: __ 
(      ,     ) 
 

x = _____ 

m: ____  
 

y-int: ___ 
(      ,     ) 
 
y = ____ 



 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 
 
 
 
 
 
 
 

 

 

 

 
 
 
 
 
 
 
 
 

 

 

 

  
 
   
 This has no constant rate of change 

 
 
 
 
 
 

 

m: _______      ___________ per ________ 

y-int: ____  (      ,     ) 
 
r: ___________      f(x) = ______________ 
 

m: _______      ___________ per ________ 

y-int: ____  (      ,     ) 
 
r: ___________      f(x) = ______________ 
 

m: _______        ___________ per ________ 

y-int: ____  (      ,     ) 
 
r: ___________      f(x) = ______________ 
 

m: _______     ___________ per ________ 

y-int: ____  (      ,     ) 
r: ___________      f(x) = ______________ 
 

m: _______      ___________ per ________ 

y-int: ____  (      ,     ) 
 
r: ___________      f(x) = ______________ 
 

m: _______                 ___________ per ________ 

y-int: ____  (      ,     ) 
r: ___________      f(x) = ________________________ 


